
USER MANUAL · BEDIENUNGSANLEITUNG
MOUNTING SET FOR FIXED INSTALLATIONS
MONTAGESET FÜR DIE FESTINSTALLATION

RIG400205801



 WARNING 

Overhead mounting requires extensive experience, 
including the calculation of the load limit values, 
the installation materials used, and 
regular safety inspection of all installation
materials and equipment. If you do not have these 
qualifications, do not try to install it yourself 
and instead contact a 
professional company. There is a risk that incorrectly 
mounted or secured devices may come loose 
and fall down. This may lead to serious injury 
and even fatalities.

INTENDED USE
This product is a retrofitting kit for loudspeakers for fixed 
permanent installation! This mounting set is intended exclusively for experienced operators and 
is not suitable for private households or untrained persons! Use of the product outside 
the specified technical data and operating conditions, as well as incorrect mounting on the loudspeaker, 
is considered improper!

Liability for damages or third-party damage to persons and property due to improper 
use is excluded!

SAFETY INSTRUCTIONS
1.	 Please read this user manual carefully. 

2. 	Keep all information and instructions 
	 in a safe place. 

3. 	Follow the instructions. 

4. 	Only use the mounting set in 

	 the prescribed manner. 

KEEP AWAY FROM CHILDREN! THE PRODUCT 
CONTAINS SMALL PARTS AND PACKAGING 
MATERIAL THAT COULD BE SWALLOWED! 
PLASTIC BAGS MUST BE KEPT OUT OF
THE REACH OF CHILDREN!

PACKAGE CONTENTS
1. Half clamp hook, black, tensile load up to 250 kg, 
	 for pipe diameters 48–⁠51 mm

2. M12 locking nut, Poly DIN 982 A4

3. M8 ring bolt, DIN EN 10204 3.1

4. M8 x 35 mm cylinder screw with hexagonal socket 
	 DIN 912 A2 plus lock washer

5. M10 x 35 mm cylinder screw with hexagonal socket 
	 DIN 912 A2 plus lock washer

1

2 4

3

5



ASSEMBLY INSTRUCTIONS

01. Release and remove the M12 wing nut (A), 
but leave the corresponding washer 
on the half clamp hook. Release and remove the 
mounting screw with washer, spring washer 
and wing nut (B). 

02. Attach the M12 locking nut (C) instead of 
the M12 wing nut on the half clamp hook. Assemble 
the M8 and M10 cylinder screws with the
corresponding lock washers (D).

A

B

C

D

03. Depending on which fastening thread (mounting hole) is available on the loudspeaker, insert either the M8 (E) or the 
M10 (F) cylinder screw with lock washer into the corresponding hole in the half clamp hook.

E F



04. With the help of the corresponding cylinder screw and the associated lock washer, fasten the half clamp hook 
on the loudspeaker (G), making sure that the connection is tight and secure. Now screw 
the ring bolt, which has been tested in accordance with DIN EN 10204 3.1, into the corresponding thread on the loud-
speaker (H) as far as it will go and use it as a safety eyebolt.

G

H

H

TECHNICAL SPECIFICATIONS MANUFACTURER’S DECLARATIONS
Our currently valid warranty conditions and limitation of liability are available at:
 http://www.adamhall.com/media/shop/downloads/documents/manufacturersdeclarations.pdf

In the event of service requirements, please contact 
Adam Hall GmbH | Adam-Hall-Str. 1 | 61267 Neu Anspach, Germany  
E-mail: Info@adamhall.com | +49 (0)6081-9419-0

 PROPER DISPOSAL OF THIS PRODUCT
(Valid in the European Union and other European countries with waste separation) This 
symbol on the product or the associated documents indicates that the device must not 
be disposed of with normal household waste at the end of the product’s life, in order to 

prevent environmental damage or personal injury caused by the uncontrolled disposal of waste. 
Please dispose of this product separately from other waste and recycle it to promote sustain-
able economic cycles. Private customers can contact the dealer from whom the product was 
purchased or the relevant local authorities to obtain information on environmentally friendly 
waste management. Commercial users can contact their supplier and check the contractually 
agreed terms and conditions on the disposal of equipment. This product must not be disposed of 
with other commercial waste. 

Subject to printing errors and mistakes, as well as technical or other changes!

Item no. RIG400205801

Product type: Loudspeaker accessory

Type: Mounting set for fixed installations 

Package contents: Half clamp hook (tensile load up to 250 
kg, 
ø 48–⁠51 mm) 
M12 locking nut (Poly DIN 982 A4)
M8 ring bolt (DIN EN 10204 3.1)
M8 x 35 mm cylinder screw
Hexagonal socket (DIN 912 A2)
M10 x 35 mm cylinder screw
Hexagonal socket (DIN 912 A2)
M8 lock washer
M10 lock washer

Dimensions
Half clamp hook 
(H x W x D)

95 x 165 x 30 mm

Total weight 0.67 kg



 WARNUNG 

Überkopfmontage erfordert umfassende Erfahrung, 
einschließlich der Berechnung der Grenzwerte für die 
Arbeitslast, des verwendeten Installationsmaterials und 
der regelmäßigen Sicherheitsüberprüfung aller Installation-
smaterialien und Geräte. Wenn Sie diese Qualifikationen 
nicht haben, versuchen Sie nicht, eine Installation selbst 
durchzuführen, sondern nutzen Sie die Hilfe von 
professionellen Unternehmen. Es besteht die Gefahr, 
dass sich nicht korrekt montierte und gesicherte Geräte 
lösen und herabfallen. Dadurch können Personen schwer 
verletzt oder getötet werden.

BESTIMMUNGSGEMÄSSER GEBRAUCH
Bei diesem Produkt handelt es sich um ein Set zur Nachrüstung für Lautsprecher zur nicht ortsveränderlichen 
dauerhaften Anbringung! Dieses Montageset ist ausschließlich für den sachkundigen Anwender bestimmt und 
nicht für Privathaushalte und nicht für sachfremde Personen geeignet! Die Benutzung des Produktes außerhalb 
der spezifizierten technischen Daten und Betriebsbedingungen, sowie eine fehlerhafte Anbringung am Lautsprecher, 
gilt als nicht bestimmungsgemäß!

Haftung für Schäden und Drittschäden an Personen und Sachen durch nicht bestimmungsgemäßen 
Gebrauch ist ausgeschlossen!

SICHERHEITSHINWEISE
1.	 Lesen Sie diese Anleitung bitte sorgfältig durch. 

2. 	Bewahren Sie alle Informationen und Anleitungen 
	 an einem sicheren Ort auf. 

3. 	Befolgen Sie die Anweisungen. 

4. 	Verwenden Sie das Montageset nur in der 

	 dafür vorgesehenen Art und Weise. 

VON KINDERN FERNHALTEN! DAS PRODUKT 
ENTHÄLT VERSCHLUCKBARE KLEINTEILE UND 
VERSCHLUCKBARES VERPACKUNGSMATERIAL! 
KUNSTSTOFFBEUTEL MÜSSEN AUSSER REICH-
WEITE VON KINDERN AUFBEWAHRT WERDEN!

PACKUNGSINHALT
1. Halbschellenhaken, schwarz, Zugbelastung bis 250 kg, 
	 für Rohrdurchmesser 48 - 51 mm

2. M12 Sicherungsmutter Poly DIN 982 A4

3. M8 Ringschraube DIN EN 10204 3.1

4. M8 x 35 mm Zylinderschraube mit Innensechskant 
	 DIN 912 A2 plus Sicherungsscheibe

5. M10 x 35 mm Zylinderschraube mit Innensechskant 
	 DIN 912 A2 plus Sicherungsscheibe

1

2 4

3

5



MONTAGEANLEITUNG

01. Lösen und entfernen Sie die M12 Flügelmutter (A), 
belassen aber dabei die dazugehörige Unterlegscheibe 
am Halbschellenhaken. Lösen und entfernen Sie die 
Befestigungsschraube mit Unterlegscheibe, Federring 
und Flügelmutter (B). 

02. Befestigen Sie die M12 Sicherungsmutter (C) anstelle 
der M12 Flügelmutter am Halbschellenhaken. Bestücken 
Sie die M8 und M10 Zylinderschrauben mit den ent-
sprechenden Sicherungsscheiben (D).

A

B

C

D

03. Setzen Sie, je nachdem, welches Befestigungsgewinde (Flugpunkt) am Lautsprecher vorhanden ist, entweder die M8 
(E) oder die M10 (F) Zylinderschraube mit Sicherungsscheibe in die entsprechende Bohrung im Halbschellenhaken.

E F



04. Befestigen Sie den Halbschellenhaken mit Hilfe der entsprechenden Zylinderschraube und der dazugehörigen 
Sicherungsscheibe am Lautsprecher (G), achten Sie dabei auf eine feste und sichere Verbindung. Schrauben Sie nun 
die nach DIN EN 10204 3.1 geprüfte Ringschraube bis zum Anschlag in das entsprechende Gewinde am Lautsprecher (H) 
und verwenden sie so als Sicherungsöse.

G

H

H

TECHNISCHE DATEN HERSTELLERERKLÄRUNGEN
Unsere aktuellen Garantiebedingungen und Haftungsbeschränkung finden Sie unter:
 http://www.adamhall.com/media/shop/downloads/documents/manufacturersdeclarations.pdf

Im Service Fall wenden Sie sich bitte an 
Adam Hall GmbH | Adam-Hall-Str. 1 | 61267 Neu Anspach  
E-Mail Info@adamhall.com | +49 (0)6081 - 9419-0

 KORREKTE ENTSORGUNG DIESES PRODUKTS  
(Gültig in der Europäischen Union und anderen europäischen Ländern mit Mülltrennung) 
Dieses Symbol auf dem Produkt oder dazugehörigen Dokumenten weist darauf hin, dass 
das Gerät am Ende der Produktlebenszeit nicht zusammen mit dem normalen Hausmüll 

entsorgt werden darf, um Umwelt- oder Personenschäden durch unkontrollierte Abfallentsorgung 
zu vermeiden. Bitte entsorgen Sie dieses Produkt getrennt von anderen Abfällen und führen es 
zur Förderung nachhaltiger Wirtschaftskreisläufe dem Recycling zu. Als Privatkunde erhalten Sie 
Informationen zu umweltfreundlichen Entsorgungsmöglichkeiten über den Händler, bei dem das 
Produkt erworben wurde, oder über die entsprechenden regionalen Behörden. Als gewerblicher 
Nutzer kontaktieren Sie bitte Ihren Lieferanten und prüfen die ggf. vertraglich vereinbarten Kon-
ditionen zur Entsorgung der Geräte. Dieses Produkt darf nicht zusammen mit anderen gewerblichen 
Abfällen entsorgt werden. 

Druckfehler und Irrtümer, sowie technische oder sonstige Änderungen sind vorbehalten!

Artikel Nr. RIG400205801

Produktart: Lautsprecherzubehör

Typ: Montageset für die Festinstallation 

Packungsinhalt: Halbschellenhaken (Zuglast bis 250 kg, 
ø 48-51 mm) 
M12 Sicherungsmutter (Poly DIN 982 A4)
M8 Ringschraube (DIN EN 10204 3.1)
M8 x 35 mm Zylinderschraube,
Innensechskant (DIN 912 A2)
M10 x 35 mm Zylinderschraube,
Innensechskant (DIN 912 A2)
M8 Sicherungsscheibe
M10 Sicherungsscheibe

Abmessungen
Halbschellenhaken 
(H x B x T)

95 x 165 x 30 mm

Gesamtgewicht 0,67 kg


